Algebra2 8.5
Recognize and solve direct and joint variation problems
Recognize and solve inverse and combined variation problems

direct variation = RX (R

joint variation k- x-2 A
inverse variation '

constant of variation Lj = -i—- T \L 3 - K X
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§" KeyConcept Direct Variation

Words yvaries directly as x if there is some nonzero constant k such
that y = kx. kis called the constant of variation.
Example Ify= ?x and x = 7, then y = 3(7) or 21.
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S KeyConcept Joint Variation

= kxz.

= 6, and z= —2, then y = 5(6)(—2) or —60.




& KeyConcept Inverse Variation

Words yvaries inversely as x if there is some nonzero constant k such that
Xy=kory= %, where x # 0 and y # 0.

Example If xy = 2,and x = 6, then y = %or %
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Practice
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y=kx Y:kxz = - kX
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State whether each equation‘

| represents a direct, joint, inversé:aﬁr combin
- Then name the constant of v

eﬁvariaticln.
‘ariation.
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Answers can vary depending on your decision

Answer the question
0







40. a = 27b M.c=1Z 42. —10 = gh 43. m = 20cd
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